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1. (4% * 3= 12%)
The strategy describes how an organization matches its own capabilities with the opportunities in the

marketplace to accomplish its overall objectives. AC company uses higher selling prices, rather than

unique products or services.

Required:

(a) What is AC company’s strategy to achieve competitive advantage? (4%)

(b) Give one possible way through which AC company would achieve the strategic goal? (4%)
(c) What are the four perspectives of the balanced scorecard? (4%)

2. (7% * 2= 14%)

YunTech Company sells radios for $7,400. It has cost $5,400. A competitor is bringing a new radio
to market that will sell for $6,850. Management believes it must lower the price to $6,850 to compete
in the market for radios. The marketing department believes that the new price will cause sales to
increase by 40%, even with a new competitor in the market. Marcon's sales are currently 1,000 radios
per year.

Required:

(a) What is the target cost for the new target price if the target operating income is 20% of sales?
(7%)

(b) What is the change in operating income if the marketing department is correct and only the
sales price is changed? (7%)

3. (4% * 6= 24%)

Calamata Corporation processes a single material into three separate products A, B, and C, During
September, the joint costs of processing were $300,000. Production and sales value information for
the month were as follows:

Product | Units Produced Final Sales Value per Unit Separable Costs
A 10,000 $25 $125,000
B 15,000 30 250,000
C 12,500 24 125,000
Required:
(a) Determine the amount of joint cost allocated to each product if the sales value at split-off method
is used.

(b) Determine the amount of joint cost allocated to each product if the constant gross-margin
percentage NRV method is used.
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4. (18 %)

ERAARAZE—FAES  ARERREETHLT !
Bt BRMESTER 4 RM 0 &8585 -
AL HEMELREROS IRABAL » BT EF$120 0
EHNLER  BEMASTA 1 RS - B4 5%/ 65850
B %R : $150,000 @ JE ¥ & #5 5,000 1 %65 o

AFAARRESANIETEN  MALATIH LR

FEAHEAE £ B (B EmS2) $40,000( #1)
BHEBELE , 50,000( #1)
ALBELE 24,000 (& #1)
ALTIERER : 36,000 (R #)
UHHLERALIHER 9,000(& #1)
UL ERRE LR 25,000(F #1)
BleBesERL 2R 10,000(A #1)
BeftEREEsE 30,0000 #1)
BAE

(@ AF4AMEREE - (2%)

() EHBAZRHME - (2%)

() EHMAIFHAAIRA ° (4%)

d) EREGHULERARETRBEETHEER - (4%)
() CoMzBEEHEER - (2%)

() BHARA RGBT ERIMEZBHE - 2%)
(8) EHRBUZE VA Z ATFH - (2%)

5. (16 %)
RAENW 1A | B EREENASL AL ER A0 T84 8 E 5 A 24,000
B 30,000 B o HEHESBEMRASL  ABMH ABATSO ARG H UL ERANM - BF
Bt E M AS132,0000 £2IRAELT REBALEEMIBRATHREER - BFH4
EREEER T > BEIm A $32,000 $Enirmal A E L% 5% - H—F 44 & 30,000
ﬁﬁ’%;iwié%ﬂmﬁm’ﬁ%#@%mﬁéﬁa%c :

A

(@ HASHRAZHEE —ZRE_F28¥M435 - (4%)

b) HAGERALHEL —FRE_F2 B L35 - (4%)

() ¥ FE—FRE-F » REGHRAEZI B LEEBTFEEDNRAET LS L 3E - (8%)
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6. (8% * 2= 16%)

FENNSFRAAER RS RATHBIE o £ F -5  THROESE AT M
BAFARS S#HB HELLEPIEET BRI F AL AR EEALNES
A REULHPIFEFROULERB I BIERNELE - ,
BN A A FAA AN H S E R £5$2,000,0000 K IR0 0 me 20 0h 4% %) 855 3] 2 18,000 g2
12,000 /)~ 8% o
BTHERTEESRA  RAENNHERFL ERAELEARRASE  RAZN o3t
RERE T E MRS H -
3 EEEE AR UL E 3B YK
1 ¥ A0HSER AURAHER AHEHF

35 $1,120,000 #45 %k $1 2,800 %

iy ) 340,000 A& & NBE 3,400 /] B%
£ 7 300,000 EAH#A=E 60,000 F &,
B 7 240,000 EHHEAINEF 30,000 /) BF

EiaEs &R $2,000,000
FENNUEFTHABDEREHTF - TORLERERALGHEMEH

7 i R il

dig (h8) B/ 25,000 20,000
HERN $1,200,000 $1,920,000
HEAIRK $500,000 $640,000
REI HHEATNBF 12,000 6,000
KB A4 AT B 5,400 6,600
B i 400 2,400
B NEF 1,400 2,000
Th#AE (TR) 30,000 30,000

Bk
(@) HHAEREERAS BT > BIEE DG BLAL - (8%)
(b) SHEAMEERBRAHT > RIEE S BAK o (8%)
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1. ¥RanX24 181 B8@%E $1,00,000 BATLNE 3 EMES ZERHE % B4
FRLE—RZNNE X2 ERBMEHRZAIEMES $950,0000 b F NS NEE B %
URAHREBEMMESE B ANAEEEEFVOCDHRE BIE &~ AEEHEFEVPL)
HENE X2 FAPBEREMELBENBER KT IELHEL - (20 o)

AHA4E 5 e
FVOCI (a) )
FVPL () @)

2. WRHMNX1ILE1H 1B $500,000 BEAT /NG 30% L@k LEEREES - T3
X1 4 548 $100,000 » X2 45 5% 4] $400,000° A5 X2 412 A 31 B¥H L A% E
Z M@ 2%A A $560,000 - BT N3] X2 FF L BB BT (S 2)

3. RKira) X9 FA A& TARAE > M AT -

G B RFS AR A $480,000
IEE AT B 50,000
& E A AR R 70,000
& R A 40,000
AT #A AR PR A 100,000
RIEE S 300,000

(@) 38 X9 £ 2B EAG )
(b) 34k X9 4327 BAKE Z 585 &)

4. T3 X2 FEMATEHEH A $600,000 0 RALATIFH $720,000 0 —FRE—2 £ R B
R & A B E R Z RBRIRIEIN B » X1 SR 056 BAE T AR & fRAR %A % 580,000
X1 & X2 FEEAHESH A 20%R 25% o B3R X1 F L4 X2 FZMFHEAL » AR
W8] X2 R ZEIEATIFM AR BT (S )




) H (3 E)

YL BIrEMRIEIREE 111 SR i SRt R
N LIRS EE FIE : M EEE

A

BN X1 28 TR0 ¢ 478 % R $50,000 0 B ¥73k 4 AR A$180,000 0 &4 —H K
#4143 $170,000 3 1 32.$200,000 » 4471 % B4F £ 3481,000,000 > 3% K 7 2% 848 5 %
A BT R 2 M 2$80,000 - MM ELERLABATRAZTHLFAGATAZ DY
(5 %)

FA AR X1 £47548100,000 & A-B AR C ZATEH2HHTTAH » ZAHLE
I8 & 8 37T H AR HLE B %] £$45,000 ~ $40,000 & $20,000 ; 2 A4 E B B AHE 0 W B
$55,000 ey 4a B 2 C M BB EAE - FOAART A3 BARMATS 2 A BAXM
BRCHZ - %M1 A3 BRABAAZBEUANLED?E D)

X1 A0 E AN A BT X BB P T A8 % B UCIREARS40,000 0 3 B X1 F
jeir 4 £ B4 12 A 31 BIKR$40,000 0 A A F A 10% ° X1 FU& > 2 FEA
FE I3k B R A6 T4 15 FAURIR 3R S e 453t LTI AR KRR AS14,677 - A
o X2 T A SHE A M Ak 0 X2 SRR X AE$34,000 5 5 X2 R E A A AR
W HADE 2k 8 2 B4R 0 BRI R RS AR X3 R A X4 R 45 iR $32,000 0 A X2
£ BRI H B AR TR R RBR A S A AT 7 (10 5)

Spoca 8 B AR S AR 2 X1 BU$$10,000,000 2 BURRAT TR 0 2 £ F
83% > BEERML o EBZTIHAE S 8% » RIEFBUHRABR < K3t F ¢

(@ X1 £ BRIz eakath - (S H)

b)) X1 FRERFIZAEER (S 2)

(0) X1 FE BT 2 A BN ° (5 &)

TN AN XL FhE — SR B AL EZR M EARARS600,000 (MERKIFZEX
HoB) R A$50,000 + B 3% R AKA IAS 16.7 FRAE ZRBIELE) - BB AT a R F IR
210 4% RAGERIIFE  BHAMAT - I REBUFZ RN AR S Fik
F—RARBZE 2R -t X3 ERAASHARE S FRIT-RE2HA - B E
R ) B RATAR A > R A Z AR AR £ 560,000 © BB IR 2 M ERASMA -
3t

() X1 FEZBBZHEER -5 2)

(b) X4 FEZEBZIEERR - S 0)
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10. 2@ X1 FHBEE S HERIRALNARAE L L F » X2 F P58 gk
M EY ko A ki ET 0 X1 £ X2 F895%4) 4 £$360,000 $2$375,000 - £
MEFRIETET > SFAHERAETHT -

& B A X145 X245
VL $170,000 $200,000
ho 340k $165,000 $185,000

ERERAER > AT EET > BB 8 2 X1 A X2ESH 55 5D 2(105)

11, EFH 2N X151 A1 BH@EBAEITIERBE N > #153704£82,000,000 © %45 5] &
FERAREGHANEN XS 1 A 1 B 349$2,720,978 88 =435 %) Bk > 128 42 by
4 50 BN TAERERTBEREA - XEFH NN BITHRMEALEZ 4 £ E
BARHZ AR5 10% > A1%A AR X1 £BRFI S VAHEER 25 H)




